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1. In the given figure, calculate the value of x.
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(i) x=135° (ii) x=138° (iii)) x=134° (iv) x=136° (v) x=137°

2. The angles of a triangle ABC are in the ratio 12 : 7 : 17. Find the measure of each angle of the triangle
(i) A=58°,B=35°,C=87° (ii) A=62°,B=35°,C=83° (iii)j A=58°,B=37°,C=85° (iv) A=60°,B=33°,C=87°

(v) A=60°,B=35°,C=85°

3. Which of the following is a zero angle?
(i) 180° (ii) 0° (iii) 222° (iv) 90° (v) 38°
4. The following angle represents
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(i) acute angle (ii) right angle (iii) reflex angle (iv) zero angle (v) obtuse angle

5. In the given figure,| | mandn | oandp || q.Find the values of {d,e,f,g,h,i}
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(i) 99°,34°,47°,99°,34°,47° (ii) 34°,47°,99°,34°,47°,99° (iii) 47°,34°,99°,47°,34°,99°

(iv) 99°,34°,99°,34°,47°,47° (v) 47°,99°,34°,34°,47°,99°

6. One of the two equal angles of an isosceles triangle measures 46°. Find the measure of each angle of the triangle.
(i) A=46°,B=46°,C=88° (ii) A=48°,B=46°,C=86° (iii) A=44°,B=48°,C=88° (iv) A=46°,B=44°,C=90°

(v) A=44°,B=46°,C=90°



7. The following lines represent
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(i) parallel lines (ii) coplanar lines (iii) intersecting lines (iv) concurrent lines (v) perpendicular lines

8. The supplementary angle of118°is
(i) 62° (i) 72° (iii)) 67° (iv) 77° (v) 92°

9. Which of the given figures is correct?
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(i) vV (i) 1) e (iv) N

10. The following angle represents
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(i) obtuse angle (ii) complete angle (iii) acute angle (iv) reflex angle (v) straight angle

11. Multiple lines drawn on a plane are called

(i) perpendicular lines (ii) intersecting lines (iii) parallel lines (iv) concurrentlines (v) coplanar lines

12. Which of the following are true for alternate angles?
a) They are in the same side of the transversal

b) They are on either side of the transversal

)

)
c) They are not adjacent angles
d) One is interior angle and the other is exterior
)

e) Both are interior angles
f) They are adjacent angles

(i) {a,b} (i) {d,b,c} (iii) {b,c,e} (iv) {fa,e} (v) {d,c}



13. Which of the following are true?

a) Small letters are used to represent lines
b) The length of a line segment cannot be determined

)

)
c) Capital letters are used to represent points
d) A line has an infinite number of points on it
)

e) A ray has an infinite number of points on it

(i) {a,c,de} (ii) {b,d} (iii) {b,e,a} (iv) {b,c} (v) {b,a}

14. Find the unknown marked angles in the following figure
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(i) x=103°,y=150° (ii) x=104°,y=151° (iii) x=101°,y=148° (iv) x=105°,y=152° (v) x=102°,y=149°

15. Which of the following figures represent a ray?
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figl fig 2 fig 3
(i) fig 3 (ii) fig 2 (iii) fig1l

16. Which of the following are adjacent angles in the below figure?

(i) £KQL, ZLQM (ii) £0QK, ZLQM (iii)) £LQM, £NQO (iv) 4ZNQO, ZLQM (v) 4ZMQN, £0QK

17. Sum of the interior angles in a triangle is

(i) 185° (ii) 180° (iii) 190° (iv) 195° (v) 210°



18. The following angle represents
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(i) zero angle (ii) complete angle (iii) straight angle (iv) right angle (v) acute angle

19. In the given figure, find £LCDB
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(i) 71° (i) 72° (iii) 75° (iv) 73° (v)

74°

20. In a right-angled triangle if one of the acute angles is 33°, find the measure of the other acute angle.

(i) 55° (ii) 57° (iii) 59° (iv) 58° (v)

21. Find the unknown marked angles in the following figure
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(i) x=87°,y=113° (ii) x=88°,y=114° (iii)) x=86°,y=112°

22. Find the value of 'u'
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(i) 53° (ii) 83° (iii) 58° (iv) 63° (v) 68°

(iv) x=85°,y=111°

(v) x=84°,y=110°



23. If all the three angles of a triangle are of the same measure, find the measure of each of the angles.

(i) 62° (ii) 61° (iii) 59° (iv) 58° (v) 60°

24. Find the supplementary angles pair in the following

(i) 43°,127° (ii) 53°,127° (iii) 83°,147° (iv) 93°,157° (v) 63°,137°

25. Which of the following points are collinear?

a) E,H,F
b) D,H,F
c) F,H,G
d)H,G,F
e)

G,H,E

(i) {a,b} (ii) {c,e} (i) {d,a,b} (iv) {be} (v) {ceb}



Assignment Key

1) (iv) 2) (v) 3) (ii) 4) (iii) 5) (iii) 6) (i)
7) (i) 8) (i) 9) (iii) 10) (iii) 11) (v) 12) (iii)
13) (i) 14) (i) 15) (i) 16) (i) 17) (ii) 18) (i)
19) (iv) 20) (ii) 21) (iii) 22) (i) 23) (v) 24) (ii)
25) (iv)
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